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LSE-13 

BACHELOR OF SCIENCE (B. Sc.) 

Term-End Examination 

June, 2019 

LIFE SCIENCE 

LSE-13 : PLANT DIVERSITY—II 

Time : 3 Hours 	 Maximum Marks : 75 

Note : Question No. 1 is compulsory. Attempt any 

five questions from Question Nos. 2 to 8. 

1. (a) Fill in the blanks : 	 -1 each 

(i) 	 roots of Cycas are apogeotropic 

and help in fixing atmospheric 

	

nitrogen 	 

	 is a modified stem usually 
flattened and leaf like serving the 

plant as a photosynthetic organ. 

(iii) Quinine is obtained from the bark of 

(iv) Turmeric is the dried rhizome of 

(v) Monadelphous 	stamens 	are 
characteristic of family 	 

(A-36) P. T. 0. 



[ 2 ] 	 LSE-13 

(b) Match the items given in column A with 
those given in column B : 	1 each 

Column A 

(i) Guard cells 

Haustoria 
roots 

(iii) Tunica corpus 
theory 

(iv) Siliqua fruit 

(v) Axile  

Column B 

(1) Type 	of 
placentation 

(2) Stomata 

(3) Brassicaceae 

(4) Cuscuta 

(5) Shoot 

meristem 

	

(c) Explain the following terms : 	1 each 
(i) Pollination drop 

(ii) Living fossil 

(iii) Insectivorous plant 

(iv) Runner 

(v) Gynobasic style 

2. (a) Give the botanical names, family of two 

important medicinal plants and their uses. 

6 

(b) Describe the characteristic features of 

	

family Asteraceae or Liliaceae. 	6 
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3. (a) Draw labelled diagrams of any two of the 

following : 	 3 each 

• 	 (i) V. S. microsporophyll of Cycas 

(ii) Dwarf shoot of Pinus 

(iii) T. 	S. 	of 	anther 	showing 
microsporangia 

(iv) Sieve tube and companion cell 

(b) Describe the structure of xylem tissue with 
proper diagram. 	 6 

4. (a) Where did coffee originate ? Give its 

botanical name, family and part used. 

Briefly describe the various steps of 

processing of coffee. 	 6 

(b) How do gymnosperms differ from 
angiosperms ? 	 6 

5. (a) Write notes on any two of the following : 

3 each 

(i) Nuts 

(ii) Uses of wheat 

(iii) Rewards to pollinators 

(iv) Lenticels 
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(b) Describe various modifications of leaf 
found to suit the different environmental 
conditions. 6 

6 (a) Discuss the work being done to improve 
the varieties of any one cereal. 	6 

(b) What are the different types of vegetable 
oils ? Mention any five uses of vegetable 
oils. 6 

7. (a) With the help of suitable diagrams, 
describe the diagnostic features of family 
Fabaceae or Poaceae. 	 6 

(b) Give the botanical name and family of 
plant yielding rubber. Discuss the uses of 
rubber. 6 

8. (a) What are the functions of seed 
appendages ? Describe the various types of 
seed appendages. 	 6 

(b) How do the following categories of plants 
obtain their nourishment ? 

(i) Parasites 

(ii) Saprophytes 

(iii) Insectivorous plants 

Give one example of each. 
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